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QUESTION 1

Which of the following is NOT an attribute of Declared Global Temporary Tables (DGTTs)?

A. Each application that defines a DGTT has its own instance of the DGTT

B. Two different applications cannot create DGTTs that have the same name

C. DGTTs can only be used by the application that creates them, and only for the life of the application
D. Data stored in a DGTT can exist across transaction boundaries

Correct Answer: B

QUESTION 2

When does a view get populated?

A. When it is created

B. When it is referenced in an INSERT statement

C. The first time any executable SQL statement references it
D. Any time an executable SQL statement references it

Correct Answer: D

QUESTION 3

Which two of the following allow you to perform administrative tasks against database objects?
A. Control Center

B. Journal

C. Command Line Processor

D. Task Center

E. Health Center

Correct Answer: AC

QUESTION 4
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Which of the following is the lowest cost DB2 product that can be legally installed on a Linux server that has 6 CPUs?
A. DB2 Express Edition

B. DB2 Personal Edition

C. DB2 Workgroup Server Edition

D. DB2Enterprise Server Edition

Correct Answer: D

QUESTION 5

Application A currently holds an exclusive lock on a single row and application B tries to access that row. If lock timeout
is set to -1 and both applications are using isolation level RS, which of the following will occur?

A. Applications A and B will cause a deadlock situation.

B. Application B will read the previous version of the row.

C. Application B will read the row and see uncommitted changes made by application A.
D. Application B will be placed in a lock-wait state until applicationA releases its lock.

Correct Answer: D
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